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A7 & T A 0.1~0.2 g Na,CO;
B 3125 mL4a 25y,

4e 30 mL& 3+ -k i3 f3Na,CO,
bv 30 LT R Ak

F ¥ Na,CO;(aq) L %% ¢

BAREALIN B B L S
(l% + i’%iifl—a— jygi;}l uﬁé’w%;& A 5217)
i 18 4 mL H
lj*-/p AT A %‘ﬁ/ ; -% g 30 ,0
/ﬁ"/-"*' ﬁn
545V, 2 V, 2 0.01 mL [l

0.1~0.2 g Na,CO, +0.0001 g

e R T T

AR FAENEFINEFT UL TEE

11




FULREA

/ﬁ‘ TALER

S mLA iR IE 2R

— ERL SRR

~ FAFLEPERABRBZRIT G E
~ g LEAMAV)EEMANVYI00ImL T
- AR R SR e dlE R




ﬁiﬁgli/? T3 E B

\

NT$ 4500 !!

POWER

10 A 48

MODE HOLD
HIER || FATES DB

J

13




R IRIE.
| ) l_),,l,.-lw"

0. Ml 1
BIEER

7\
SLOPE

s Calibs= > 2 B+ | 7.00 | = *z# Slope &3 &1 10.00,

45 T-49 14




A2
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vV = (©.00+10.00) _, ¢, V, = (9.50+10.50) _ 10.00
—/ =X A /=X fg s
Vg pH V, ApH/AV V, A(ApH/AV)/AV
9.00 9.80 9.50 -0.12 10.00 -0.04
10.00 9.68 10.50 -0.16 11.00 -0.04
11.00 9.52 11.50 -0.2 12.00 -0.15
12.00 9.32 12.50 -0.35 12.80 -0.166
13.00 8.97 13.10 -0.45 13.20 -1
13.20 8.88 13.30 -0.65 13.43 0.866
13.40 8.75 13.55 -0.433 13.70 -2.555
13.70 8.62 13.85 -1.2 14.00 1.111
14.30 -0.444
-1 14.58 1.6
14.60 7.70 14.70 -0.6 14.80 0.25
14.80 7.58 14.90 -0.55 15.20 0.283 v
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